Matematika gyakorlatok, 5. osztaly

Kivonas

Szamitsd ki:

1). 7016 - 505 =

2). 7758 - 906 =

3). 6613 - 4231 =

4.7012 - 4007 =

5). 6477 - 899 =

6). 9060 - 5509 =

7). 6611 - 299 =

8). 6550 - 52 =

9). 9459 - 894 =

10). 9647 - 5682 =
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Matematika gyakorlatok, 5. osztaly

Kivonas
Eredmények:

1). 7016 - 505 = 6511
2). 7758 - 906 = 6852
3). 6613 - 4231 = 2382
4). 7012 - 4007 = 3005
5). 6477 - 899 = 5578
6). 9060 - 5509 = 3551
7). 6611 - 299 = 6312
8). 6550 - 52 = 6498
9). 9459 - 894 = 8565

10). 9647 - 5682 = 3965
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